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Section 9.2  Arithmetic Sequences and Partial Sums
Solutions to Even-Number ed Exer cises
2.4,9,14,19,24, . .. 4. 124838 . 6.1n1,In2,In3,In4,In5, ...
Arithmetic sequence, d = 5 Not an arithmetic sequence Not an arithmetic sequence
8. 12,22, 32 4252 .. 10. a, = (2"n 12.a,=1+(n—1)4
Not an arithmetic sequence 2, 8, 24, 64, 160 1,509, 13 17
Not an arithmetic sequence Arithmetic sequence, d = 4
14. a, = 201 16. a, = (—1)" 18. &, = 200, &, =& — 20
1,248, 16 -1,1,-11-1 a, = 200 — 20 = 180
Not an arithmetic sequence Not an arithmetic sequence a; = 180 — 20 = 160

20.

24,

a, = 0375,a,_,=a + 025
a, = 0.375 + 0.25 = 0.625

a, = 0.625 + 0.25 = 0.875
a, = 0.875 + 0.25 = 1.125
as = 1.125 + 0.25 = 1.375
d = 0.25, a, = 0.125 + 0.25n

a, = 16, a,, = 46
6=a,=a,+(n—1d=a +3d
46=a,=a +((N—1d=a + 9d
Answer:a, = 1,d=5

a =1

a,=1+5=6

aa=6+5=11

a,=11+5=16
a;=16+5=21

a, = 160 — 20 = 140
a; = 140 — 20 = 120
d= —-20and a, = 220 — 20n

a=>5
_ 3 _ W
H=0"37%

_ 17 3_14_7
B=3 T2~ 472
_7_3_1u

Q=37 47~

26. a;; = a5+ 5d
—73=-38+5d[] d= -7
ag=a +5d[J —38=a +5-7 1] a=-3
a=-3—-7=-10
a,=—-10—-7=—-17
a,=—-17-7=—24
ag=—24—7=-31
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28. a;, = a5 + 9 30.a,=8a +d
385=16+9d/[J d=25 13=3+d[J d=10
a,=a +4d[J16=a, + 425)[] a,=6 ag=4a +8d=3+ 8(10) = 83

a,=6+25=85

a, =85+ 25=11
a, =11+ 25 =135
a; = 135 + 2.5 = 16

32.d=a,—-a=-10—-(-1) = -9 3. d=a,—a =-138—- (-07) = —13.1

8y = a, + 24d = —1 + 24(—9) = —217 ag=a, +7d= —07 + 7(-13.1) = —924
36. a, = 15,d = 4 38. a,=0d= -3

a,=a+(h—1)d=15+(n—-1)4=11+4n a,=a,+n-)d=n-1)(-3=2-2n
40 101 51 01 _51_10, 42 al: _4,a5: 16

d=-5 a,=a, +(n—1d

a,=a,+(n—1d=10+ (n— 1) (-5 = 15— 5n 16 = —4 + 4d

d=5

a, = +(n—1)d=-4+Nn-1)5=5n—-9

44. a; = 190, a,, = 115 46. a,=3n—5
a,=4a;+5d0 115=190+ 5d 0 d = —15 d = 3 so the sequence isincreasing.
a, =a;— 440 a, = 190 — 4(—15) = 250 anda, = —2.
a,=a +(n—1)d=250+ (n— 1) (—15) Matches (d).
= 265 — 15n
48. a, = 25— 3n 50. a,= -5+ 2n 52. a,= —-03n+ 8
d = —3 so the sequenceis 6 10
decreasing. [ o ® C
_ C L4 L®ee ° o
anda, = 22. - ..0 r e,
Matches (a). C . C
0- TN T SO T N T B | 11 L
—. 0 L 1 1 1 1 1 1 1 1 1 1 11
-6 0
54. a, =17 + 3n
n 1 2 3 4 5 6 7 8 9 10
a, 20 23 26 29 32 35 38 41 44 47
56. a, = %n + 12
n 1 2 3 4 5 6 7 8 9 10

12.8 13.6 14.4 15.2 16 16.8 17.6 18.4 19.2 20
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58. a,= —124n+ 9
n 1 2 3 4 5 6 7 8 9 10
a, | —34 | —158| —282 | —406 | —53 —654 | —778 | —90.2| —1026 | —115
60. —6,—2,2,6,... 62. 40,29,18,7,...

66.

70.

72.

76.

80.

84.

88.

a, = —6,d=4,n=50
as, = —6 + 49(4) = 190
S = 2(—6 + 190) = 4600

a,=2n
a, = 2,8, = 200,n = 100

100 00
D 2n = (2 + 200) = 10,100
n=1

100

n=>51

a, = 1000 — n
a, = 999, a,, = 750, n = 250

250 250
E(looo —n) = 5 (999 + 750) = 218,625
n=1

1 1
ay = > Q00 = —182, n = 101

1008—3n_101(1 1)

16 2

= —896.375
2 4

n=0
a, = —10,854 = 50,n = 61

61 61

D (i — 10) = $(—10 + 50) = 1220
1=0

a, =15d=3n=36

ag = 15 + 35(3) = 120
Sk = 2(15 + 120) = 2430 seats

a,=93d=89-93=-4n=38
a, = —4(8) + 97 = 65
S, = 5(93 + 65) = 4(158) = 632 bales

a, =40,d= —11,n =10
a,, = 40 + 9(—11) =
S;, = 2(40 — 59) = —95

64. a, = 15, a;o, = 307,n = 100
Si0 = 22(15 + 307) = 16,100
—-59

68. a, = 7n
ag, = 357, 8,50 = 700

100
D' = (357 + 700) = 26,425

n=>51

K 50 50
20— X n="(51+100) ~ (1 + 50) = 3775 — 1275 = 2500
n=1

74. a; = -, 8500 = 52,n = 100

Nl

% n+4 100(5
n=1 2 2

~+ 52| =2725
)

78. a, = 4525, a, = 9.5, n = 200

N 200
D, (45 +0025) = =~ (4525 + 95) = 14025
=1

82. (a) a, = 36,800, d = 1750
ag = a, + 5d = 36,800 + 5(1750) = $45,550

(b) S, = 5[36,800 + 45,550] = $247,050

86. a, = 15,a,0 = 24,d = 1,n = 10

S = 2(15 + 24) = 195 logs

90. a, = 4.9,a8, = 14.7,a; = 245,
a,=3430 d=938

a;, =49=981) +c c=—-49
a,=98n-49

a;o = 9.8(10) — 49 =931

S = 2(4.9 + 93.1) = 490 meters



